TABLE DE 6 TABLE DE 6

Donne le résultat de ces multiplications: Donne le résultat de ces multiplications:

1x6= 5Xx6 = 8x6= 3x6-= 8x6= 6x9=
5x6= 6x0-= 4x6= O0x6-= 6 X 6= 3x6=

6Xx6-= 3x6-= 6x6-= 8x6-= 6 x10 = 5x6=
4x6= 7x6= 10x 6 = 6x2-= 4x6= 6x7-=
9x6-= 9x6-= 6x7-= 10x 6 = 6 X 5= 8x6=
7x6= 4x6= 2x6-= 1x6= 6x0-= 4x6=
3x6-= 8x6= 5x6= 5x6= 3x6-= 6x6-=
O0x6-= 6 X 6= 6x9-= 6x6-= 7x6= 10x 6 =
8x6= 6x10 = 3x6= 4x6= 9x6= 6x7-=
6x2= 4x6-= 5x6= 9x6= 4x6= 2x6=
10x6 = 6 x 5= 6x7= 7x6= 5x6-= 5x6 =

Score : ...../33 (en 2 minutes) Score : ...../33 (en 2 minutes)



